Informational Report for the February 19, 2013 Board of Trustees Meeting

				New								
				Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot College - 0	Community Edu	cation	1									
					To teach Drama							
					classes to Community	Community						
Amayo-Hassan	Linda	M.	Chabot	No	Education students	Education	Hourly	\$45.00	8	\$360.00	3/2/2013	6/30/2013
•					To teach Guitar to							
					Community Education	Community						
Brill	Bruce	nmi	Chabot	No	students	Education	Hourly	\$45.00	30	\$1,350.00	2/23/2013	6/30/2013
					To teach Tae Kwon Do							
					to Community	Community						
Deguzman	Rudolfo	S.	Chabot	No	Education students	Education	Hourly	\$35.00	17	\$595.00	1/22/2013	6/30/2013
					To teach Dance to							
					Community Education	Community						
DeLeon	Emerlita	A.	Chabot	No	students	Education	Hourly	\$35.00	16	\$560.00	2/23/2013	6/30/2013
					To teach Community							
					Band to Community	Community						
Johnson	Beverly	M.	Chabot	No	Education students	Education	Hourly	\$45.00	34	\$1,530.00	1/14/2013	6/30/2013
					To teach Cake							
					Decorating to	0 't						
C == #	Mondou	n mi	Chabot	No	Community Education	Community	Hourby	¢20.00	22	\$660.00	2/25/2013	6/20/2012
Groff	MaryLou	nmi	Chabot	No	students	Education	Hourly	\$30.00	22	Φ00.00	2/25/2013	6/30/2013
					To teach Water							
					Aerobics to Community	Community						
Hawtrey	Nancy	S.	Chabot	No	Education students	Education	Hourly	\$45.00	36	\$1,620.00	3/5/2013	6/30/2013
ramay		<u> </u>	0.1.0.001		To teach AUTOCAD to			ψ.σ.σσ		ψ.,e20.00	0,0,20.0	0,00,20.0
					Community Education	Community						
Huang	Wei-Chin	nmi	Chabot	No	students	Education	Hourly	\$99.00	12	\$1,188.00	3/2/2013	6/30/2013
liualiy	VV GI-CIIIII	111111	Chabot	INO	To teach Chinese to	Ludcation	Tiouriy	ψ99.00	12	ψ1,100.00	3/2/2013	0/30/2013
					Community Education	Community						
Kuo	Diana	S.	Chabot	No	students	Education	Hourly	\$45.00	12	\$540.00	2/19/2013	6/30/2013
	2.00	1					,	\$.5.00		ψο.ο.οο	_,	5, 55, 2510
					To teach computer							
					classes to Community	Community						
Mockel	Dennis	E.	Chabot	No	Education students	Education	Hourly	\$40.00	21	\$840.00	2/23/2013	6/30/2013
					To teach Mystery							
					Shopping to							
					Community Education	Community	Per					
Moran	Elaine	E.	Chabot	No	students	Education	Student	\$19.60	15	\$294.00	3/9/2013	6/30/2013

Informational Report for the February 19, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
							1760	. u j 11				
					To teach Medical Front Office to Community	Community	Per		10	0.100.00	0/40/0040	0 (0.0 (0.0 4.0
Patterson	Kris	nmi	Chabot	No	Education students To teach Workers'	Education	Student	\$42.00	10	\$420.00	3/18/2013	6/30/2013
					Compensation to Community Education	Community						
Patterson	Kris	nmi	Chabot	No	students	Education	Hourly	\$34.00	10	\$340.00	3/17/2013	6/30/2013
Dellassas	Keis		Ohahat		To teach Computerized Medical Insurance Billing to Community	Community	Per	# 40.00	40	# 400.00	0/47/0040	0/00/0040
Patterson	Kris	nmi	Chabot	No	Education students To teach Advance	Education	Student	\$10.00	10	\$100.00	3/17/2013	6/30/2013
D. //					Medical Insurance Billing to Community	Community	Per	**	10	#0.40.00	0/40/0040	0/00/0040
Patterson	Kris	nmi	Chabot	No	Education students To teach Intro Medical	Education	Student	\$34.00	10	\$340.00	3/16/2013	6/30/2013
					Insurance Billing to Community Education	Community	Per					
Patterson	Kris	nmi	Chabot	No	students	Education	Student	\$42.00	10	\$420.00	3/2/2013	6/30/2013
Patterson	Kris	nmi	Chabot		To teach Start a Medical Insurance Billing Service from home to Community Education students	Community Education	Per Student	\$26.00	10	\$260.00	3/16/2013	6/30/2013
					To teach Medical Insurance Billing Class Bundle to Community	Community	Per					
Patterson	Kris	nmi	Chabot	No	Education students	Education	Student	\$110.00	15	\$1,650.00	3/2/2013	6/30/2013
D - ab - tu-	I/ I		Ob ab at	NI-	To teach Sewing to Community Education	Community	I I a contro	* 05.00	10	\$400.00	0/00/0040	0/00/0040
кадротга	Kamai	ınmı	Chabot	INO		Education	Hourly	\$35.00	12	\$420.00	2/23/2013	6/30/2013
Sobworz	Dill	_	Chahat	No	classes to Community	Community	Hourly	¢45.00	o	\$360.00	2/16/2012	6/30/2013
		_			To teach Medical Insurance Billing Class Bundle to Community Education students To teach Sewing to Community Education students To teach computer	Community Education Community Education	Per	•		,		

Informational Report for the February 19, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Smeester-Karpeles	Rachelle	М.	Chabot		To teach Belly Dancing to Community Education students	Community Education	Per Student	\$31.60	20	\$621.26	2/12/2013	6/30/2013
Sineester-Karpeles	Racifelle	IVI.	Chabot	INO	Luucation students	Luucation	Student	φ31.00	20	φ021.20	2/12/2013	0/30/2013
Chabot College												
	Elaine	nm:	Chabot		To teach NCLEX	Health, Physical Education, & Athletics	Hourh	\$100.00	16	\$1.600.00	1/22/2013	5/31/2013
Baiardi	Elaine	nmi	Chabot		seminar To be a presenter at First 5 cohort meeting on CARES Plus program and give an introduction of class scoring and	Athletics	Hourly	\$100.00	16	\$1,600.00	1/22/2013	5/31/2013
Bandelow	Neva	M.	Chabot		assessment tool	Social Sciences	Rate	\$200.00	1	\$200.00	11/30/2012	11/30/2012
Chou	Betty	nmi	Chabot		To provide project services for television station operations	School of the Arts	Hourly	\$16.00	456	\$7,296.00	8/1/2012	12/31/2012
Evangelista	Gwyneth	D.	Chabot		To provide services as a nursing tutor	Physical Education, & Athletics	Hourly	\$30.00	50	\$1,500.00	2/16/2013	5/31/2013
Fuller	Thomas	P.	Chabot		To train Maintenance & Operations personnel for Fork Lift Driver Training and Recertification	Maintenance & Operations	Hourly	\$75.00	10	\$750.00	1/16/2013	6/30/2013
Harker	Alexandria	F.	Chabot		To provide assistance with CTE Community Collaborative Grants including gathering data and creating summary reports for State reporting	Off Campus Programs	Hourly	\$20.00	600	\$12,000.00	2/8/2013	6/30/2013

Informational Report for the February 19, 2013 Board of Trustees Meeting

Last Nama	First Name		014-	New Emp to	Deti-	District	Pay	Devi Bete	Mandana	Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Kubicki	Jennifer	nmi	Chabot	No	To teach 2013 swimming clinic to Community Education students	Health Sciences, Physical Education & Athletics	Hourly	\$45.00	15	\$675.00	1/7/2013	1/31/2013
Powell	Yvette	L.	Chabot	No	To provide instructional support for Foster and Kinship Care Education pre-service and ongoing training Program	Foster Kinship Care Education	Hourly	\$20.00	300	\$6,000.00	1/8/2013	6/30/2013
Rubino III	Jesse	A.	Chabot	No	To teach 2013 swimming clinic to Community Education students	Health Sciences, Physical Education & Athletics	Hourly	\$20.00	25	\$500.00	1/7/2013	1/31/2013
Sammons	Amber	R.	Chabot	No	To teach sports to Community Education students	Community Education	Per Student	\$39.50	10	\$395.00	2/11/2013	6/30/2013
Tomei	Tyler	A.	Chabot	No	To teach 2013 swimming clinic to Community Education students	Health Sciences, Physical Education & Athletics	Hourly	\$11.00	25	\$275.00	1/7/2013	1/31/2013
Westmoreland	Rhonda	R.	Chabot	Yes	To provide the hospital exam to students	Health, Physical Education, & Athletics	Per Student	\$190.00	N/A	N/A	1/22/2013	6/30/2013
Las Positas Colle	ge Community E	ducat	ion									
Broida	David	F.	Las Positas	No	To teach Music and Harmonica classes to Community Education students	Community Education	Per Student	\$19.60	N/A	N/A	4/16/2013	6/30/2013

Informational Report for the February 19, 2013 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	- 3	Assign End Date
Eberle	Christopher	S.	Las Positas		To teach CPR & Basic Life Support to emergency medical services students	Public Safety	Hourly	\$ 50.00	14	\$ 700.00	3/2/2013	6/30/2013
Hartmann	Jeanette	nmi	Las Positas		To teach computer classes to Community Education students	Community Education	Hourly	\$30.00	50	\$1,500.00	3/1/2013	6/30/2013
Wilkins	Penny	A.	Las Positas		To teach computer classes to Community Education students	Community Education	Hourly	\$30.00	25	\$750.00	3/1/2013	6/30/2013

Informational Report for the February 19, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Las Positas College												
Gabel	Audrey	H.	Las Positas		To provide training to surgical technology students at ValleyCare Health System; to develop resource listing; and update curriculum	Science, Technology, Engineering, Math & Public Safety / Career & Technical Education	Hourly	\$ 75.00	432	\$ 32,400.00	1/22/2013	5/31/2013
Gabel	Audrey	Н.	Las Positas		To provide director/coordination responsiblities for the surgical technology program	Science, Technology, Engineering, Math & Public Safety / Career & Technical Education	Hourly	\$ 50.00	234	\$ 11,700.00	1/22/2013	5/31/2013
Mirande	Norene	M.	Las Positas		To provide contract services for the Tri-Valley One Stop Center operations in support of the Alameda County Workforce Investment Act	Tri-Valley One Stop	Monthly	\$3,200.00	36/week	\$19,200.00	1/1/2013	6/30/2013
Maghsoodnia	Maryam	nmi	Las Positas		To assist as a trainer for the Pharmacy Technology program	Health Sciences	Hourly	\$75.00	180	\$13,500.00	2/1/2013	6/30/2013
Montalvo	Debra	J.	Las Positas		To provide job development support for disabled students	Disabled Students Programs and Services	Hourly	\$24.00	40/week	\$12,000.00	1/1/2013	6/30/2013

Informational Report for the February 19, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
							71.	,			J	
					To provide case management for the Workforce Investment Act Youth Program Career Learning	Student						
Moore	Sheri	L.	Las Positas	No	Cohort	Services	Hourly	\$28.00	450	\$12,600.00	1/1/2013	6/30/2013
Purcell	Sheila	K.	Las Positas		To provide support for the operations of the Workforce Investment Act	Tri-Valley One Stop	Hourly	\$4,300.00	32/week	\$21,500.00	2/20/2013	6/30/2013
	0.10.10		240 : 00.140	1.00	7.60	0.00		ψ .,σσσ.σσ	02, 110011	ψ= 1,000100	2/20/20:0	0,00,20.0
Rothman	Cheryl	A.	Las Positas		To design and publish combined Summer and Fall 2013 schedule of classes for the college	Student Services	Flat Rate	\$3,500.00	n/a	\$3,500.00	1/31/3013	4/15/2013
Simerman	Gerald	C.	Las Positas		To provide contract services for the Tri-Valley One Stop Center operations in support of the Alameda County Workforce Investment Act	Tri-Valley One Stop	Monthly	\$4,800.00	36/week	\$28,800.00	1/1/2013	6/30/2013
Valle, Jr.	Rafael	A.	Las Positas		To Manage the Tri- Valley One Stop Center including fiscal management, staff supervision, WIA program coordination, case management, staff hiring and training for FY2012-13	Tri-Valley One Stop	Monthly	\$5,500.00	32/week	\$33,000.00	1/1/2013	6/30/2013

Informational Report for the February 19, 2013 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District		Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	_
Zingg	Barbara	C.	Las Positas	No	develop resource	Science, Technology, Engineering, Math & Public Safety / Career & Technical Education	Hourly	\$ 75.00	180	\$ 13,500.00	1/22/2013	5/31/2013
District Services					To provide emotional and practical support to							
Guerra	Blanca	nmi	District	No	parents new to the Solano County Child	Contract Education	Hourly	\$12.00	850	\$10,200.00	1/2/2013	6/30/2013